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Exam — 19 June 2009

_/' Fundamentals of Computer Science
|

Escuela Universitaria  Ingeniaritzake
e Ingenieria  Unibertsitate Eskola
Vitorla-Gastelz  Vitoria-Gastelz

1. (1,5 points)

Sub cmd1_Click(Q)
Dim x As Integer, y As Integer

pctl.Cls
IT Not IsNumeric(txtl.Text) Or Not IsNumeric(txt2.Text) Then
pctl_Print "The operands are not numeric'
Else
X = Val(txtl.Text)
y = Val(txt2.Text)
IT X <= 00ry <=0 Then
pctl._Print "The numbers are not positive"
Else
IT x Mod y = 0 Then
pctl.Print x & " is divisible by " & y
Else
pctl_Print x & " is not divisible by " & y
End If
End IFf
End If

2. (3 points) Decomposing:

i, n, m: integer E
res: string
1
n < ReadInteger ~ """ TTTTTTTTTT :
¢ :___T_______I e 3
i—n+1 EUIEEHET - - SumDig --» integer !
meo o} Tmmmmmmeees ' o_.TIIIIIoee
res<"™ i i |
| v i S:integer |
> - ___ 1
s« 0
A o>
v ) 4
nn H NO
res«res&""&i n>0
m«m+1
Yes
l S« s+n Mod 10
_ n < n Div 10
i+l
No
Yes Y
SumDig « s
Write res
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3. (3 points)

a)

Function Titulise(ByVal s As String) As String
Dim i As Integer, n As Integer
Dim ¢ As String " Character
Dim r As String " Resulting sentence

Dim p As Boolean " if started by word

True * We are at the beginning
LCase(s) " The whole sentence in lowercase
Len(s)
1
le i <=n
= Mid(s, 1, 1)
T Not isSep(c) And _
Not isSig(c) Then
" It"s a letter
IT p Then
r & UCase(c) " First letter in uppercase
False * First letter put

== >N =T

>
- = |l 0L

Else
r & ¢ * Add lowercase letter
f
+1
e " Separator or sign
= True " Word finished
Whille esSep(c) Or esSig(c)
" Signs are directly copied, separators are ignored
IT isSig(c) Then

n

o= nwoT=

El

T W =m

" Add a space being
" because one or more separators become one
it comes after a punctuation sign
r=r &""
End If

Wend

Titulise = r
End Function

b)

Sub cmdl_Click(Q)
Dim sent As String

sent = txtFrase.Text " Read the non-normalised phrase from a field
txtNorm.Text = Titulise(sent) " Write normalised phrase on another
End Sub
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4. (2,5 puntos)

Sub MergeVector(ByRef v1() As Double, ByVal nl As Integer, _
ByRef v2() As Double, ByvVal n2 As Integer, _
ByRef v3() As Double, ByRef n3 As Integer)
Dim i1 As Integer, 12 As Integer, 13 As Integer

i1 =1
i2=1
n3 = nl + n2
For i3 = 1 To n3 Step 1 ° Copy n3 elements in total
IT i1l > nl Then " If copied all vector vl
v3(i3) = v2(i2) -~ copy current element of v2
i2=1i2+1 - increment index of v2

Elself i2 > n2 Then * Equivalent if copied all v2
v3(i3) = vi(il) " ==
il=1i1+1 " ==

Elself v1(il) < v2(i2) Then * Compare the elements
v3(i3) = vi(il)

il =1i1+1
Else
v3(i3) = v2(i2)
i2=1i2+1
End If
Next i3
End Sub
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